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Selection for the post of Junior Clerk cum Typist against 33 4% PRQ (Level 2 as per 7t

CPC )in Personnel department under Sr. DPO, Sealdah
T f3R/Exam Date : 25.08.2022 wafi/Time : 02 =12
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A2A/INSTRUCTION
1.T0F W7 TF 3% F7 &A1 21 T 39 ¥ g F Fiife s 781 21
Each question carries one mark. There is no negative mark for wrong answer
2. 77 =41 101 & 110 T=TSTNT W7 Ffeqs )
Questions No. 101 to 110 are Rajbhasha questions are optional.
3. S FTF F Ffafeaq Jea< qRasr 7 T off w02 esroeft 959 S99 5 e
TETEETT T F7 47 I |

Do not write anything on answer sheet disclosing yours identity otherwise candidature

will be cancelled.

4. TEATAT 110 Te47T # # 100 FoAT & Ica< 2 |

Candidate have to attend 100 question out of 110.

5. farft ot w7 it FET 71 Iea< F qfEdT S A8l A ST gUT AT AGL AT &
form sp7 @i fo s |

Any type of cutting, overwriting, erasing or alternation of answer will not be accepted.
Zero marks will be given for having correction and overwriting answer.

6. Tt 1 711 F1A A T FT TIOT F G 2|

Candidates use only blue or black ball pen.

7. @Y wr agawadrr )

All question are multiple choice.
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e the answer of question No. 1to 5 from the alternatives
s

Reac the following passage carefully and cho0
man body has the

(A),(8),(C) & (D) :
human
The heart is one of the vital components of the hu

' i h
centinuous job to keep oxygen-rich blood flowing fhroug
e brain. The brain cells |

disease

body. The heart of the hu

the body. All the body’s cells need a constant
utes after the oxygen

ive only four to five min
can result from damage to the heart

d, the heart is unable to pump prope_riy. -|f
Gibbon of USA developed a machine in

had the chance to repair of replace 2
arts were faulty. Many people

; h
supply of oxygen, particularly in t _
is cut off and death comes to the entire body. Ht:_‘art

er. If the muscle is damage

muscles, the valves or the pacemak s
the valves are damaged, blood cannot flow normally. Dr.Jo

1953 that could take over temporarily from the hean.‘ Surgeonhs e
defective heart. Many patients have had plastic valves inserted in their he
are now being kept alive with tiny battery-operated pacemakers.

Q.1. All the body’s cells needed a constant sugply of
(A) Hydrogen (B)Helium (C) Oxygen (D) Nitrogen

Q.2.1f the supply of oxygen is cut off, the bizin ceils survive
(A) 9to 10 minutes (B) for 15 minutes (C) for an hour (D) 4 to 5 minutes

Q.3. The heart sends oxvgen-rEb blood ) l
(A) to the kidney only (B) to the entire body (C) to the lungs only (D) to the brain only

Q.4. Dr. John Gibbon of USA developed an artificial heart in
(1) 1953 (B) 1960 (C) 1950 (D) 1955

Q.5. Heart disease occur from
(A) Coronium (B) Pericardium (C) Heart cells (D) Damage to the heart muscles

C! oose the Answer of the Q. No. from 6 to 30 as per direction from the alternatives (A),(B),(C) & (D) :

Q.6. Singular number of Knives

(A) Knife (B) Knefe (C) Knif (D) Knive
Q.7. Piurai number of Man

(A) Main (B) Men (C) Mean (D) Mian
Q.8.Choose the adjective

(A) Kolkata (B) Work (C) Beautiful (D) Cat

Q.9. Choose the noun
(A) Good (B) Work (C) West Bengal (D) Fool
Q.10.Choose the verb
(A) Sad (B) Work (C) Delhi (D) Elephant
Q.11. Choose the opposite meaning of Assent
(A) Confusion (B) Dissent (C) Self interest (D) Separation

Q.12. Choose the meaning of Hesitate
(A) Determine (B) Pause (C) Settle (D) Resolve

Q.13. He jumped........... the well.
(A) on (B)into () at (D) down
Q.14. The magazine is .......the table.

(A) at(B)above (C) on (D)into
Q.15.Ironis .........useful metal.

(A) a(B)the (C) an (D) none of these
Q.16.Delhi is............capital of India,

(A) an (B) the (C) a (D) None of these
Q.17.Mumbai is the........... City in India.

(A) bigger (B) big (C) biggest (D biger
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Q.18. He goes ... school by gys.
(A) to(B)at (©) by (D) on
Q.19.Rakhi is the girl ... has failed.

(A) whom (B) who () which (D) whose
Q.20.Choose the correct spelling

(A) Genius (B) Jenius (C) Geneus (D) Genious
Q.21.Which is the correct sentence

(A) She is a M.A.(B) She is an M.A.(C) She is the M.A.(D) None of these
Q.22. Which is the correct sentence

(A) The man is mortal(B) Man is mortal.(C) Man are mortal (D) None of these
Q.23. Which is the correct sentence

(A) He is an S.0.0.(B)Heis a 5.D.0. (C) He is the 5.D.0.(D) None of these
Q.24. Which is the correct sentence

(A) She is an honest lady (B) She is a honest lad

y (C} She is the honest lady (D) None of these
Q.25. Which is the correct sentence ) '

(A) Who she is ?(B) Who is she ?(C) Who she ? (D) None of these
Q.26. Which is the correct sentence

(A) He wants go.(B) He want to £80.(C) He wants to go. (D) None of these
Q.27.Choose the Active voice

(A) Gravity was discovered by Newton. (B) Two trees have planted by me.(C) Rajat builds houses
(D) None of these

Q.28.Choose the passive voice

(A) He writes a letter. (B) Shyam has planted two trees.(C) Houses are built by Ram.(D) None of these
Q.29.Choose the Direct speech of Narration

(A) Edward said,” | like the book”. (B} Alice told me to sing.(C) Mary said she used to love dancing .(D)
None of these

Q.30.Choose the Indirect speech of Narration

(A) Edward said,” | like the book”. (B) Alice told me to sing.(C) Joseph said,”Shall | buy the car?
(D) Nene of these

General Awareness

T 31.99 7944 § TLTH q&F FIHF ATTFTEL H17 272

(7) s&orr A7 () AT Rt () e, garg (&) 3798 & 978 78
Q.31.Who is Principal Chief Personnel Officer in Eastern Railway ?

(A) ArunaNayar (B) Zarina Firdausi (C) N.K. Prasad (D) None of these

T 32. AT | A T e 22

(T) 15 (&) 17 (1) 16 (1) 18

Q.32. How many Zonal Railways are there in India ?

(A) 15 (B) 17 (C) 16 (D)18

gs7 33, ATCHIATE W7 & (7 g7 § fRya 2 2
(v) H= (&) =g () 2emane () 7€ Rt
Q. 33.Charminar is situated in which city of India ?
(A) Mumbai (B) Chennai (C) Hyderabad (D) New Delhi




T+T 34. q&ﬂw-q#q—@mﬁm%’?
] q:f:)wjﬁm

() st et () Y (o) 0
Q.34. Who is the chief Minister of west Bengal ? Adiwanath
(A) Mamata Banerjee (8) Narendra Modi (C) pHemant S0
7= 35. #Fa [3) E}{—'lﬂ"T -'?ur:j’ E A V{"E’TTF«FI -[,-.*._ff f}‘ur,—.‘ 5}!'_,1
(m) g (&) 7€ Rt () fyarraTz (1) FAEa

Q.35.Where is the Headquarter of 3 7onal Rai
Delhi (C) secundrabad (D) Kolkata

cen (D) yog!

Iways located ?

(A) Mumbai (B) New

Q"ISGRRC?T@*"TW?‘? Eﬁﬁﬁ
(7) Y= s A (@) Y3 Wl 79 (&) ¥ q?ﬁ%;-.a(-gﬁ)gaﬁﬁ g
Q.36.What is the full form of RRC ?

: None O
A) Railway Ruling Cell (B) Railway Recruitment Cell (C JRailway Recruitment centre (D)
7 37. 7% g9 FrsAT & T &
() 01.01.2004 () 01.01.2002 (xt) 01.01.2006 ($1) 01.01.2005

sion scheme is effective from
006 (D) 01.01.2005

e it wafd

f these

%mmﬁmﬂm

Q.37 The new pen
(A) 01.01.2004 (B) 01.01.2002 (C) 01.01.2

?.SB.WnﬁﬂTiﬁﬁ?ﬁ?ﬁﬁGﬁﬁF@ﬁ

T EFATE |
180 = (1) 160 & (1) 190 ==
be granted maternity leave for a period

(7) 200 27 ()
Q.38.A female Railway servant upto two surviving children can

of ........ days ‘
(A) 200 days (B) 180 days (C) 160 days (D) 190 days
7 39. ﬁﬁﬂﬁaﬁrmﬁﬁaﬁﬁﬂmﬁ%ﬁqmm%
() 20% (ff) 15% (!ﬁ) 7.5% (Itﬁ) 10%

0.39. Reservation for SC is applicable in Direct recruitment and Promotion

(A) 20% (B) 15% (C) 7.5% (D) 10%

77 40, B TrE F AT AT ATFfEE FEF F ERE G
() g () ST (3) TR (F) FHTAT

Q.40.5taff of which Railway are entitled for extra casual leave

(A) SER (B) ECOR (C) NFR (D) ECR

o7 1. g v  Fet et 82

(m) 4 (1) 5 (1) 5 (1) 2

Q.41. How many workshops are there in Eastern Railway ?
(A)4(B)5(C)3(D)2

T 42, ATEATE ATAZA FT AATH .o fr 3 ofta R ST =R

() 45 f2 () 30 27 (1) 20 B (F) 10 2=

Q.42.RTl application should be given reply within
(A) 45 days (B) 30 days (C) 20 days (D) 10 days

i\.
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9.43.7AqH I Forg a7 2 2
(%) ¥ 9000/~ (1) #7111 3500/- (+ft) =77 6000/- (¥1) 5000/-

Q.43.What is the minimum family pension ?
(A) Rs.9000/- (B) Rs. 3500/- (C) Rs.6000/- (D) S000/
T 44, vy v H ft va F aga 7 AAv w0 o Faa @Ay s A 37

@2@F 3@ 4@ s

44, .
Q.44 How many financial up gradation is applicable in whole service career under MACPS ?

(A)2(B)3(C)4(D)S

TF 45, USHTOHTHA FT I FT ...
(v) gt e 3o Rew (ﬁ)wﬁﬁ#ﬂﬁwﬁzw(ﬁ)%wﬁvﬁﬁw

Sregera (1) gvad oy feie e

Q. 45.Full form of HRMS
(A) High Resource Management System (B) Human Resource Management System (C) Human Resource

Management Solution (D) Humble Railway Management System

77 46. FAfsgs daAg F o L Tut T FaT AT9TF §

(7) 10 771 (1) 30 |1 (ft) 20 771 () 15 7
Q.46. ....... Years service is required for Voluntary retirement

(A) 10 years (B) 30 years (C) 20 years (D) 15 years

o 47, TR T @ F UF a9 7 fver AT w7 werdt s w22
(7) 15 f= () 10 2= (&) 20 f= (31) 30 ot

Q.47.How many days LAP is credited in the employees leave account in a year?

(A) 15 days (B) 10 days (C) 20 days (D) 30 days

w7 48 Frareraz 24 F Ay #1482
(m) =t 1 7 oz (&) off T v Rl (@) o B Fa (&) oft o ot fig
0.48.Who is the DRM of Sealdah Division?

(D) Sri S. P. Singh

(A) Sri V. K. Singh (B) Sri 5. 5. Priyadarshi (C) Sri Vipin Kumar

a7 49, *Frarster Free fordt 27
(q)wwﬁ?ﬁ(ﬁ)@%nﬂﬁ(iﬁ)mm%ﬁr(ﬁ)mﬂﬁm

Q. 49. Who has written “ Gitanjali” ?
(A) Jawahar Lal Nehru (B) M. K. Gandhi (C) R. N. Tagore (D) Ballav Bhai Patel

T 50, AT7A F AAATA AT FA 87
(ﬂf)ﬁmwaiﬁ?{ﬁ)mmﬁﬂ(ﬁ)ﬂmg@ﬁ(ﬁ)ﬁﬁﬁﬁﬂﬁ

Q.50. Who is the present President of India ?
(A)Sri Ram Nath Kovind (B) Smt. Draupadi Murmu (C) Sri Pranab Mukherjee (D) None of these

qs751 TR AT F T A 27
() et T At (A7) AT T arirerey (1) ot sErd e (€) oA Fordt ary Brrdt

Q.51.Who is the Governor of West Bengal ?
Jagdeep Dhankhar (D) Sri Keshari Nath Tripathi

(A) Smt.Mamata Banerjee (B) Sri La. Ganeshan( C) Sri
L R T k =
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S o e wmﬁﬂrﬁﬂﬁ’“ﬁ
W 52,5 qEATAT § FTAAT LRI Fra fat A afee
(v) 2 e (1) 3 et (&f) 5 B () = A s A J— taff in Divisior3!

Q.52.How many days of Restricted Holidays is permissible to

Headquarter?

(A) 2 days (B) 3 days (C) 5 days (D) None of these
7153, TH 6T § FAF 1@ F WA 9 27 )
1
(1) Frsmera (1) rftsmeayar (o) mramard (27 fifare £
on?

Q.53.Who is the Head of the Personnel Branch in the Divisi
(A) DRM (B) ADRM/O (C) ADRM/! (D) Sr. DPO

7 54. T HA § St fewr F wE #6127
(T) © s uw/as (d) difRae At (ﬁ};ﬁﬁméﬂfﬂ?/ﬁ (=) e 1 0 TR
Q.54.Who isthe Head of the Engineering department in the Division ?

(A) ADRM/I (B) Sr. DEN/C (C) Sr. DME/C (D) Sr. DOM

o 55 e T B & AT g B A A A

() o (F) 3 () 4 (I 5

Q.55. Leave encashment is permissible for
(A)6(B)3(C)4 (D)5

56, w7 ET R A Fel RuT 82
(m) TrEETT (@) T (H) S (3 FEEE

Q.56.RDSO is located in ?
(A} Rae Bareli (B) Jaipur (C) Bhopal (D) Lucknow

TE57 77T qAT A1 H1 T qEdT?

(7) 20 (#1) 21 (1) 19 (F1) 22

Q.57 Total number of Railway Recruitment Board?

(A)20 (B)21 (C) 19 (D) 22

9v7 58 FTAIFA 9aT F form ft geeg A7 1 PwBD )&TeT #1872

(7) 3% (A1) 4% (1) 1% (1) 1.5%

Q.58.What is the PwBD quota for Non gazetted posts?

(A) 3% (B) 4% (C) 1% (D)1.5%

a7 9. 31 T ot Frerrn & wT & P exaaw drerfird Fewar = 82

() 10 #F 77 77 10 9 + Arsdrens (1) 8 i = (+f) 12 #F () AT

Q.59. What is the minimum educational qualification for recruitment in all department in Level-1?

times in the career of a Railway Servant.

..........

(A)10th Pass or 10" +ITI (B) 8" Pass (C ) 12" (D) Graduation

75760, 7T 9Tgdl 8§ U 91¥ U (HRA) F 77 F47 87

() 8% (1) 16% (1) 24% (1) 20%
Q.60.What is the rate of HRA in metropolitan cities?

(A)8% (B) 16% (C ) 24% (D)20%

qo7 61, FTAT 9Tre o0 AT |7 WIAF T AT T S 2
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Q.61 \Wh;ch Stlrtlj:r)dm iy (;ﬁ) 2 () e S
-bl. ard form is issued for im

VSt i S i posing minor penalty

= .
T 62. 99 T %7 37 A Ao o srar 87

T - - : S 3 . o 3 =L
{;,) bl ﬁ FAAtF T4 ¥ A () et 2 w7 % o ef) Fopr S em E
() Nz Fr #7197 ¥ 5 A0 |
Q.62. What is a Pen Drive used for ?

A) To unlock
( unlock the computer ( B) To store information (C ) To erase the computer screen (D) To make the

Printer work
T 63. ¥ F fou stqarss e Raroor &5 &7 ar aqr?

(m) F Fft s oww (@) v s (@) Fief oft sreow (@) KA w oA
Q.63 Name the online grievance redressal machinery for Railway?
(A)CPGRAM (B) NIC (C ) VPGRAM (D) PRAN

7 64. 3= JATHTIA ————o- fa=i & Ao R ST 8

Q.64. Paternity Leave is granted for --—--- days
(A) 30 days (B) 20 days (C) 15 days (D) 40 days
57 65. F=AT F T@ATH TTFTL - TEAT 7% T A €
(m) 670 (1) 530 f&= () 450 &7 (1) 730 f= i
Q.65.Child Care Leave is permissible up to ----—-- days.
(A) 670 (B) 530 days (C) 450 days (D) 730 days

T 66. %nﬁﬁﬁmﬁﬁﬁmqﬂéﬂﬁrm?ﬁ
() 10 f&= (1) 20 f2 (1) 12 ) 15 ==

Q.66. How many days LAP becomes payable in six months ?
(A) 10 days (B) 20 days (C ) 12 days (D) 15 days

Tﬂﬁ?.ﬁaﬁﬁﬁ_ﬁﬂg@'mﬁmﬁmiﬂ'mwﬁ?
() 300 = (£1) 100 fZ= (51) 250 e (F1) 150 ==

f leave encashment on retirement?

Q.67.What is the maximum limito
(A) 300 days (B) 100days (C ) 250 days (D) 150 days

168 g F fam mpAaw tfaEHl AT wommmmemem AW B
() 2 7 (47) 3 AT (1) 5 7T (3T) 4 "1
Q.68.Minimum residency period for promotion is

(A) 2 years (B) 3 years (C) 5 years (D) 4 years
o1 69, ey At ot F fam w AT T AT s Feti 26 TS 2016 & TTet B |

(w) g F=an (d1) AT (1) wwar (1) Aad
Q.69. Benchmark for APAR for MACP would be

(A) Very Good (B) Outstanding (C ) Good (D) Average
- p& ] — 277 97 1.

w.e.f 25" July 2016



qex 70 1 off 17 e A o FAE o _ et ATT3Z
() Uﬂﬁmmﬁﬁmrﬁﬂﬁ*ﬁ* () T Gid

TFTIET TURTHH AATSAA fraré (31) A1 R ance Report

Q.70. APAR stands for -------- P
(A) Annual Performance Appraisal Report (B) Annud

(D) Accounted Performance Appraisal Report

iy 71, Fera £ arIar ?F?{“WS*WWW? .......
(m) 10 A7 (1) 20 w7 (1) 30 ATA (%) 33 ATA

Q.71. Minimum service required to be eligible for pension 1s
(A) 10 years (8) 20 years (C) 30 years (D) 33 years

gor 70 S =t e oft Y srfirwaw fo FTE?

(7) 10 == (a) 05 =T (=) 30 &1 (£1) 20 =TF

Q.72.What is the maximum amount of DCRG ?
(A) 10 Lakhs (B) 05 Lakhs (C) 30 Lakhs (D) 20 Lakhs

T 4 3. o F R w19 o T35 82
() =T (@) T (o) o () T A

Q 73.Who are not eligible for CGA?
(A) Son (B) Wife (C ) Husband (D) None of these

orm
rsonal Audit peport (c)All perf
e

T 74. T TT T BTN FT T
(rry e S AfREA () e A e () e e afaAd
(F7) =8 7 FrE TH
Q.74. What is the full form of PNM?
t Negotiating Mechanism (C ) Permanent Negotiating

(A)Partial Negotiating Machinery (B) Permanen
Machinery (D) None of these
=

TF75. T TEFR A ETT T oo
o aTet ke () Araw AR wE (f) % arsd vEe (@) At wEet ()

Q.75. what is the full form of SBF
(A) Staff Benefit fund (B) Staff boundary fund (C ) Social benefit fund (D) Social boundary fund

TIT6 FTAAT4 T AT 8 2

() & (1) -5 (1) -1/2 (3T) -23
Q.7€.Which is greater than 47

(A)5(B)-5(C)-1/2 (D) -23

a1 77. 91521 #1 fa@Ti (Combine terms): 12 T + 2647 44 — 167

(m) 4 7 + 22 #F () -28 7 + 30 A (1) -4 7+ 22 f7 (F1) 28 W+ 30 A

Q. 77. Combine terms : 12a + 26b -4b - 16a

(A) 4a +22b (B) -28a + 30b (C) -4a + 22b (D) 28a + 30b

21,78, T 3 WeaTelt #1 U & 397 8, 71 3 ST Sy Av o By s

(1) 1,2 57 3 (A1) 2,3 47 4 () 3.2 57 5 (1) 7w & FE TH
Q.78.Which 3 numbers have the same answer whether they are added or multiplied together?
(A) 1,2 and 3 B),2,3 and 4 (C) 3,2 and 5 (D) None of these '

Q Y



Tq.79. 3+2 X(8-3) FT 717 5179 M

(T) 25 (A1) 13 (+f1) 17 (1) 24
Q. 79. Find the value of 3+2 x(8-3)
(A) 25 (B) 13 (C) 17 (D) 24

TT80. 121 Fr 11 & fAwrfora &
() 11 () 10 (=) 19 (1) 18

Q.80. 121 is divided by 11 is
(A) 11 (B) 10 (C) 19 (D) 18

81. 7 ¥ &TZ STAT AWTST % FIT 272
(@ 13 (@) 12 () 14 &E) 11

81. What is the next Prime Number after 7 ?
(A) 13 (B) 12 (C) 14 (D) 11

77 82. 131X 0X300X4 . FT IeaTx
(7) 11 (1) 0 (1) 46 (1) 45

Q.82. Product of 131X 0X300X4

(A) 11 (B) 0 (C) 46 (D) 45

75183. 3 + 6 X (5+4) + 3-7 & gA FL
(m) 11 (&) 16 (1) 14 () 15

Q.83.Solve 3 +6 X (5+4) + 3-7
(A)11(B) 16 (C) 14 (D) 15

77 84. UF 29 H fohaw a9 21d 87

(7) 5 |7er (A1) 10 @7 (+f1) 15 A7 (1) 20 AT

Q.84. How many years are there in a Decade ?
(A) 5 years (B) 10 years (C) 15 years (D) 20 years

757 85. Z9HHd Sre 5.23 + 8.79
() 14.02 () 14.19 (1) 14.11 (1) 14.29

Q.85. Add the Decimals 5.23 + 8.79
(A) 14.02 (B) 14.19 (C)14.11 (D) 14.29

was.ﬁ—aﬁf?ﬁﬁﬁa?ﬁqmaﬂwaﬁ%?
() 2007 (41) 2016 () 2001 (F7) 1997
Q.86.Which of the following is a leap year?

(A) 2007(B)2016 (C) 2001(D)1997
9187, 26 #7455 a1 7. 4. 7. ( HCF) e #ifarm

(m) 15 (1) 13 (1) 14 (1) 18
Q.87.Find the HCF of 26 and 455.
(A) 15 (B) 13 (C) 14 (D) 18

75788, 9261 FT FAHA AT R



() 23 (1) 17 (1) 21 (M 15
Q.88.Find the cube root of 9261
(A)23(B)17(C) 21 (D) 15
189 afF x+1/x=2. AT x-1/
(m) 0 (&) 1 (#1) 2 () -2
Q.89.1f x+1/x=2. then what isthe v

(A)O (B) 1(C)2 (D) -2 1
90 712 A ¥1 794 60 fF1 3 g7 aAq 45 T 8 A

x AT AT 1 &7

3 A A

alue of x-1/x?

(;ar.'li{'ﬂ"’fs‘d‘ﬁm‘r

atis the average

sTfayat #7 st a7 ¥ 27

() 54 ft (41) 50 P (fY) 52 Fre (31) 53 farett . shen wh
Q.90.1f the weight of A is 60 kg, weight of Bis 45 kg and weight of €15 54 ke,

weight of three persons?

() 54 kg (B) SO kg (C) S2 kg (D) 53 kg
bic i “?Hﬁ'ﬁsowﬁﬁwﬁavﬁmaﬁ?m%aﬁ*m:@wm%

7

() 50% (37)
Q.S1.A man buys a toy for Rs
(A) 50% (B) 45% (C) 52% (D)49%

asrgp S v ¥ for A A gl U STT & ?
() ey (31 et () Fae # e (3) e R Ll
Q.82.Which leaves is granted for Voluntary Blood donation?

(A) CL(B)LAP(C) Special CL (D) LHAP

45% (1) 52% (¥1) 49% R
.50 and sells for Rs.75.What will be his gain percentage !

7793 37T T1E =9 5 @ g7
() zFror & TE () T e Ty () T T () 2P T
0.93.Berhampore Court Station is in which Railway?
ailway (D) Southern Railway

(A) South Eastern Railway (B) East Central Railway (C)Eastern R
TG4 F A7 &1 71 47 01.01.2016 F TaTdT 22
(m) 6 =1 (1) 7 771 () 54T 21) 3
0.84. Which CPC is effective from 01.01.2016?
(A) 6" (8) 7 (C)5" D) 3rd
9795.9% 799 § 7944 oAt 412 Fgl 27
() FrATAT (#1) qErar (+#) 72 (&) LCES
Q.95.Where is Railway Recruitment Board in Eastern Railway?
(A) Kolkata (B) Bhubaneshwar (C ) Patna (D)Mumbai
75796 "HE A 21 & ATATAT 0| A7 FRAFI AT 417
(1) AT 5% A (1) AT A e (f) weRm aerd W ve ek

Q.96.”Give me blood | will give freedom”. Whose slogan was this?
(A)Subhash Chandra Bose (B Bal Gangadhar Tilak (C ) Sardar Ballavbhai Patel (D) None of
Of these

g5797 ATEAE I HAT FIF 22
A 5



(7) «fr 797 Oy (ot
b a ) ’—ﬁ'ﬁl"ﬁ Eﬁ'rr,ﬁ- .
337.Wha is the Railway Mineics Of-lnl';{::;f (’:ﬁ) o1 aforf dorg (1) i Hiefror o
g Ddl“B]‘ Smt. Draupadi Murmu (C ) Sri Ashwani Vaishnaw (D)Sri Niti
¥ H B s e v qfa 39 NS Ky
(T) 5 () 2 (+ft) 4 (¥1) 3 | -

Q-SS.HOW man
Y recognized trade uni ) .
(A)S(8)2(C)4(D)3 nions are in Eastarn Rallway?

7 99, ?%‘#hﬁvﬂﬁma?iimhr‘rwé?

gf;;‘q'ws_ (F1) 793 (+f) F=7-2 () A7-1

~99-What is Grade Pay of Clerk Gr.ll in 7th CPC?

(A) Level-5 (B) Level-3 (C) Level-2 (D) Level-1
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Q.100. Full form of MACPS.

(A) Moﬁgrn Assured Career Progression Section (B) Modified Assured Career Progression Scheme
(C) Monitored Assured Career Progression Scheme (D) Money Assured Career Progression Scheme
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Q.101.How many languages are recognized by the Indian Constitution?
(A)21(B)23C)22(D)24
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(M F @M 8F () 7T (SN 6F

0.102.Under which schedule Official languages have been mentioned in the Indian Constitution?
(A) 97 (B)8th (c )7 (D)6th
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0.103.Rajbhash Hindi is written in which script?
(A)Devnagari (B) Sanskrit (C ) Hindi (D) Maithali
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Q.104.When Hindi Day is celebrated?
(A)7th July (8) 14" September (C ) 5" September (D)14th November
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Q.105.Urdu is an official language in which state?

(A) Gujarat (B)Rajasthan (C ) Uttar pradesh (D) Bihar & Andhra Pradesh
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Q 106 Which state is come under the Region c?
(A)Madhya Pradesh (B) West Bengal (C ) Uttar pradesh {
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Q.107. Translate “Office Order” into Hindi.

(AJSuchana (B) Sambida (C)Masauda (D) Karyalay Adesh
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Q.108.Who is the Rajbhasha Adhikari (In charge) in SDAH Division

p) Mana rashtra

(A) Sr. DPO (B) DPO (C ) APO-III (D) APO-I

7109, Frafataa § F fa At Tt e v waft s 71 1ot 3 = 7 SATAT AT 27

(7) e (1) B ) T (3 S 7
Il the languages of the World?

Q.163.Which of the following language is known as the queen of &
(A) Malayalam (B)Hindi (C) Kannada (D) Dogri
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Q.110. What is the official language of India ?
(A) Urdu (B) Hindi (C) Kannada (D) Maithali
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